
Geometry Mid-Term Exam  Name: ____________________ Student ID: _____________ 

 

1.  Locate the point on the line segment between 𝐴(3, −5) and 𝐵(13, −15) given that the point is 4/5 of the 

way from  𝐴 to 𝐵. Show your work. 

 

 

 

2.  Solve for 𝑥 in the figure below. Show your work. 

 

 

3. Find the exact area and circumference of a circle whose diameter is 8 meters. Show your work. 

 

 

 

 

4. Briefly explain the Law of Detachment. Write a statement that is concluded using the Law of Detachment for 

the following statements. 

If Jillian gets a raise, then she will buy a new car. Jillian got a raise. 

 

 

 

 



5.  Solve for 𝑥 given that 𝐶𝐸 = 36. Show your work. 

 

 

 

6.  Solve for 𝑥 in the figure below. 

 

 

7.  Are the two lines parallel, perpendicular, or neither? Explain your answer. Show work needed to answer the 

question. 

3𝑥 + 7𝑦 = 15 

7𝑥 − 3𝑦 = 6 

 

 

 

8.  Using the figure above, which theorem can you prove, given that m∠1 = m∠2? Explain your answer. 

 

 

 



9. Find the exact distance between the line 6𝑥 − 𝑦 = −3 and the point (6,2). Show your work. Explain your 

answer. 

 

 

 

 

10. Which theorem can you prove, given that m∠1=m∠2 in the figure above? Explain your answer. 

 

 

 

11.  Suppose ∆𝐷𝐸𝐹 ≅ ∆𝑊𝑋𝑌. Which choice below shows corresponding parts to congruent triangles that are 

congruent? Explain your answer. 

(A)  ∠𝐸 ≅ ∠𝑋; 𝐷𝐹̅̅ ̅̅ ≅ 𝑋𝑌̅̅ ̅̅  

(B)  ∠𝐷 ≅ ∠𝑌; 𝐸𝐹̅̅ ̅̅ ≅ 𝑋𝑌̅̅ ̅̅  

(C)  ∠𝐸 ≅ ∠𝑋; 𝐷𝐹̅̅ ̅̅ ≅ 𝑊𝑌̅̅ ̅̅ ̅ 

(D)  ∠𝐹 ≅ ∠𝑋; 𝐷𝐸̅̅ ̅̅ ≅ 𝑊𝑋̅̅ ̅̅ ̅ 

 

 

12. Determine if the triangles in the figure are congruent. If so, write the congruency statement and the reason 

the triangles are congruent. Explain your answer. 

 



13.  Determine if the triangles in the figure are congruent. If so, write the congruency statement and the reason 

the triangles are congruent. Explain your answer. 

 

 

14.  In the figure, 𝐵𝐷̅̅ ̅̅  is a median. If 𝐴𝐷 = 6𝑥 + 10 and 𝐶𝐷 = 2𝑥 + 12, find the length of 𝐴𝐶. Show your 

work. 

 

 

15. Where is the circumcenter of a right isosceles triangle located? 

 

 

 

16. In the figure above, 𝐷𝐺̅̅ ̅̅  is the angle bisector of ∠𝐹𝐷𝐸. If m∠1 = 7𝑥 + 4 and m∠2 = 9𝑥 − 4, what is the 

measure of angle ∠𝐺𝐷𝐸? Show your work. 

 

 

17. What is the sum of the measures of the interior angles of a dodecagon? Explain your answer. 

 

 



 

18. Find the measure of ∠𝑊𝑍𝑋. Show your work. 

 

 

 

 

19. Quadrilateral 𝐴𝐵𝐶𝐷 is a parallelogram. What is the measure of ∠𝐷𝐴𝐵? Show your work. 

 

 

 

20. What is the exact perimeter of kite 𝑈𝑉𝑊𝑋? Show your work. 

 


